


Read the following sentence to determine if there is any 

grammatical or contextual error within it. If there is an 

error, it will be in one part of the sentence. Identify the 

part in which the error exists and mark it as your answer. 

Please consider the part in bold as grammatically correct. 

If there is no error, select E, i.e., 'No error' as your 

answer. Please ignore punctuation errors.



India's urban areas grapple with (A) / severe health 

risks due to factors (B) / like pollution, limited green 

spaces, / inadequate infrastructure, and unhealthy diets, 

(C) / leading to a burgeoningly epidemic of 

cardiometabolic diseases. (D) No error (E)

1. A

2. B

3. C

4. D

5. E



Investments in clean energy and electric mobility (A) / 

in India offer a unique opportunity to combat (B) / air 

pollution and improve health, / but its impact may be 

limited without changes (C) / in other systems like 

food and mobility.(D) No error (E)

1. A

2. B

3. C

4. D

5. E



Green hydrogen, produced through electrolysis (A) / 

using renewable energy sources / like solar or wind, 

represents the most (B) / environmentally sustainable 

method for generating hydrogen, (C) / distinct to fossil 

fuel-derived options.(D) No error (E)

1. A

2. B

3. C

4. D

5. E



White phosphorus, with it's diverse (A) / military 

applications like creating smoke screens (B) / and 

incendiary devices, raises ethical concerns, (C) / 

especially when used in populated areas, / leading to 

international restrictions. (D) No error (E)

1. A

2. B

3. C

4. D

5. E



A sentence/a part of the sentence is underlined. Five 

alternatives are given to the underlined part which may 

improve the meaning of the sentence. Choose the correct 

alternative and click the button corresponding to it. In 

case no improvement is needed, click the option 

corresponding to "No improvement".



As soon as the rain will stop, I will go for a ride.

1. raining stops

2. rain would stop

3. rain stops

4. rain is stopping

5. No improvement



He and his brother were working here since 2010.

1. had been working here

2. was working here

3. is working here

4. had worked here

5. No improvement



Massive rallies by indian muslims and violent student 

protests derailed the CAA implementation, but the ideas 

wasn’t without merit.

1. idea wasn’t not without merit 

2. idea weren’t without merit 

3. idea hadn’t without merit 

4. ideas weren't without merit

5. No improvement



Research says that lions can endure high levels of body 

heat because they have a heat-exchange network which 

kept the brain from getting too hot.

1. No Improvement

2. that keeps 

3. which has kept

4. that has been keeping 

5. having kept



In the following question, a sentence is given with certain 

words in bold. Choose the pair/s of such words which 

need to be interchanged so as to make the sentence 

grammatically correct and meaningful. 



Part of the reason is the challenge that (A) institutional 

presents to the established order — and in Canada, (B) 

entrenched interests are (C) resist at using (D) innovation 

power to (E) adept change and (F) preserve the status quo.

1. A-D, C-E

2. B-E

3. C-F, A-B

4. A-E

5. C-D



They (A) adopted immigrants to be (B) exploiting the 

welfare state by (C) claiming benefits for (D) perceived 

children living in Turkey and (E) norms local cultural (F) 

violating, for example, by regularly barbecuing in a 

typically unused shared courtyard. 

1. C-D, A-E

2. A-E, B-F

3. A-C

4. A-D, E-F

5. B-D



To remove (A) penalty, the government has made 697 

changes in GST since its (B) notifications by issuing (C) 

inception related to rates, the (D) amendment of rules and 

(E) waiver of (F) glitches. 

1. A-F

2. A-D

3. A-D, B-F

4. C-D

5. A-F, B-C



If locals are willing to adjust their (A) expectations about 

the privileges they’re (B) entitled to, and (C) dissipate with 

immigrants who are often being (D) deprived of the (E) 

opportunity to grow and prosper, then many of these 

tensions may (F) empathize.

1. A-B, C-D

2. A-E

3. C-D, E-F

4. A-F

5. C-F



A word has been given in the questions below and has 

been used in the sentences below the same. Identify the 

statements where the word has been used in a 

contextually and grammatically correct manner. If the 

word has been used correctly in all the statements, mark 

(5), “All of these”, as your answer.



DISMISS

i). Dharmanshu refused to resign his post, and the Indian 

government hesitated to dismiss him.

ii). The committee has decided to dismiss him.

iii). Antibiotics is dismiss to cure throat infection.

1. Only (i)

2. Both (i) and (ii)

3. Both (ii) and (iii)

4. Only (iii)

5. All of these



COUNT

i). The feedback will be used to count the course for next 

year.

ii). Please count me in on this project.

iii).  If there's anything I can do, count on me.

1. Only (i)

2. Both (i) and (ii)

3. Both (ii) and (iii)

4. Only (iii)

5. All of these



FAMILIAR

i). I couldn't see any familiar faces in the room.

ii). He is familiar with the chemistry of metals.

iii).  After twenty years, all the familiar landmarks had 

disappeared.

1. Only (i)

2. Both (i) and (ii)

3. Both (ii) and (iii)

4. Only (iii)

5. All of these



ADMIRE

i). A fool always finds a bigger fool to admire him.

ii). When I was young, I admired clever people. Now 

that I am old, I admire kind people.

iii). Through the fog we saw the admire outline of a ship.

1. Only (i)

2. Both (i) and (ii)

3. Both (ii) and (iii)

4. Only (iii)

5. All of these
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